
Michigan Child Support Formula - 1/1/2021  

Derivative Benefits issues in the Supplement 

3.05(E) – Benefits paid on both parent’s earnings record. 

Example: 

                      SSD                          Derivative Amount 

Parent A - $1,930       $1,110 (m/c on case) 

Parent B - $1,986           $1,136 /2 = $568 

(2 m/c – 1 child on case & one add’l child, w/proof of amt for ea. m/c) 

 
Run MCSF w/Parent B – 90 overnights = B will be payer, so 
attribute their benefit first 3.05(E)(1). 
Anything that exceeds that is income to the other parent. 
 
Because the amount of benefit income attributed to B is $568, 
only $542 will be attributed to A - difference bet. $1,110 & 
$568 -  not full $1,110. 
 
 
Parent A income = $2,472   ($1,930 + $542)  
Parent B income = $2,554    ($1,986 + $568) this m/c’s portion  

 
New c/s $638 - $568 (derivate from B) = means B pays $70 pm. 
If new amount is less than $568 - $-0- is paid by B. 

 


